

An inversion theorem for Dunkl transform

Moncef Dziri · Samir Sahbani

Received: 10.05.2017 / Revised: 12.08.2017 / Accepted: 31.10.2017

Abstract. Using the same method as Alan L. Schwartz [11], we give an inversion formula for Dunkl transform associated with the Dunkl operator defined on \mathbb{R} by $\Lambda_\alpha u(x) = \frac{du(x)}{dx} + \frac{\alpha + \frac{1}{2}}{x} [u(x) - u(-x)]$, $\alpha > \frac{-1}{2}$.

Keywords. Dunkl operator, Dunkl transform, Inversion formula, Bessel function.

Mathematics Subject Classification (2010): 42A38, 44A20, Secondary: 42B10

1 Introduction

For $\alpha > \frac{-1}{2}$, the differential-difference operators Λ_α is defined on \mathbb{R} by

$$\Lambda_\alpha u(x) = \frac{du(x)}{dx} + \frac{\alpha + \frac{1}{2}}{x} [u(x) - u(-x)]. \quad (1.1)$$

This operator has been introduced by Dunkl and is called in the literature Dunkl operator on \mathbb{R} of index $\alpha + \frac{1}{2}$ associated with the reflection group \mathbb{Z}_2 , see [2, 3].

These operators are very important in mathematics and physics. They provide a useful tool in the study of special functions with root systems and they are closely related to certain representations of degenerate affine Hecke algebras [1, 8], moreover the commutative algebra generated by these operators has been used in the study of certain exactly solvable models of quantum mechanics, namely Calogero-Sutherland-Moser models, which deal with systems of identical particles in a one dimensional space [7].

The search for inversion formula has been an active fields for many years. In particular in 1968 Alan L. Schwartz proved an inversion theorem for Hankel transform h_α defined on $(0, +\infty)$ by

$$h_\alpha(f)(\lambda) = \int_0^\infty f(t) j_\alpha(\lambda t) d\mu_\alpha(t), \quad (1.2)$$

M. Dziri
Faculty of Sciences of Bizerte, University of Carthage, Tunisia
E-mail: moncef.dziri@iscae.rnu.tn

S. Sahbani
Faculty of sciences of Bizerte, University of Carthage, Tunisia
E-mail: sahbani.samir@gmail.com

where

$$d\mu_\alpha(t) = \frac{t^{2\alpha+1}}{2^\alpha \Gamma(\alpha+1)} dt \quad (1.3)$$

and

$$j_\alpha(\lambda t) = 2^\alpha \Gamma(\alpha+1) \frac{J_\alpha(\lambda t)}{(\lambda t)^\alpha}, \quad (1.4)$$

where J_α is the Bessel function of the first kind of order α , see [13].

The inversion formula for integral transform plays a fundamental role in modern harmonic analysis, it is natural to exploit previous researches and results for studying inversion formula for the Fourier transform associated with Dunkl operator Λ_α defined on \mathbb{R} by

$$\forall \lambda \in \mathbb{R}, \quad \mathcal{F}_\alpha(f)(y) = \int_{\mathbb{R}} f(y) \psi_\lambda^\alpha(y) d\nu_\alpha(y), \quad (1.5)$$

where

$$d\nu_\alpha(y) = \frac{|y|^{2\alpha+1}}{2^{\alpha+1} \Gamma(\alpha+1)} dy. \quad (1.6)$$

and

$$\psi_\lambda^\alpha(y) = j_\alpha(\lambda y) + \frac{i\lambda y}{2(\alpha+1)} j_{\alpha+1}(\lambda y), \quad (1.7)$$

where j_α is the normalized Bessel function of index α given by relation (1.4). This is the aim of this paper.

2 Preliminaries

In this section, we collect relevant material from the harmonic analysis associated with Λ_α we briefly cite some properties.

For more details we refer the reader to [4,5,9,10].

For all $\lambda \in \mathbb{C}$, the equation

$$\begin{cases} \Lambda_\alpha u(x) = i\lambda u(x) \\ u(0) = 1, \end{cases} \quad (2.1)$$

has a unique solution on \mathbb{R} , denoted ψ_λ^α , given in the introduction by relation (1.7).

The function ψ_λ^α called Dunkl kernel, has a unique extension to $\mathbb{C} \times \mathbb{C}$ and satisfies the following properties,

$$\begin{aligned} \forall \lambda, z \in \mathbb{C}, \quad \psi_\lambda^\alpha(z) &= \psi_z^\alpha(\lambda) \\ \forall \lambda, z \in \mathbb{C}, \quad \psi_{-\lambda}^\alpha(z) &= \psi_\lambda^\alpha(-z). \end{aligned}$$

For all $\lambda, z \in \mathbb{C}$

$$\psi_\lambda^\alpha(z) = \frac{\Gamma(\alpha+1)}{\sqrt{\pi} \Gamma(\alpha+\frac{1}{2})} \int_{-1}^1 e^{-i\lambda z t} (1-t)^{\alpha-\frac{1}{2}} (1+t)^{\alpha+\frac{1}{2}} dt. \quad (2.2)$$

So, for all $n \in \mathbb{N}$ and $\lambda, x \in \mathbb{R}$ we have

$$\left| \frac{d^n \psi_\lambda^\alpha(x)}{dx^n} \right| \leq |\lambda|^n. \quad (2.3)$$

In particular, we have

$$\forall \lambda, x \in \mathbb{R}, \quad \left| \psi_\lambda^\alpha(x) \right| \leq 1. \quad (2.4)$$

Definition 2.1 The Dunkl transform \mathcal{F}_α is defined on $L^1_\alpha(\mathbb{R})$ (the space of measurable function on \mathbb{R} such that $\int_{\mathbb{R}} |f(x)| d\nu_\alpha(x)$ is finite) by

$$\forall \lambda \in \mathbb{R}, \mathcal{F}_\alpha(f)(\lambda) = \int_{\mathbb{R}} f(x) \psi_\lambda^\alpha(x) d\nu_\alpha(x), \quad (2.5)$$

where

$$d\nu_\alpha(x) = \frac{|x|^{2\alpha+1}}{2^{\alpha+1} \Gamma(\alpha+1)} dx. \quad (2.6)$$

Theorem 2.1 Let f be in $L^1_\alpha(\mathbb{R})$ such that the function $\mathcal{F}_\alpha(f)$ belongs to $L^1_\alpha(\mathbb{R})$. Then we have the following inversion formula for the transform \mathcal{F}_α :

$$f(x) = \int_{\mathbb{R}} \mathcal{F}_\alpha(f)(\lambda) \psi_{-\lambda}^\alpha(x) d\nu_\alpha(\lambda), \quad a.e. \quad (2.7)$$

Theorem 2.2 (i) Parseval formula for \mathcal{F}_α : For all f, g in $\mathcal{D}(\mathbb{R})$ (the space of C^∞ -functions on \mathbb{R} , with compact support), we have

$$\int_{\mathbb{R}} f(x) \overline{g(x)} d\nu_\alpha(x) = \int_{\mathbb{R}} \mathcal{F}_\alpha(f)(\lambda) \overline{\mathcal{F}_\alpha(g)(\lambda)} d\nu_\alpha(\lambda). \quad (2.8)$$

(ii) Plancherel formula for \mathcal{F}_α : For all f in $\mathcal{D}(\mathbb{R})$, we have

$$\int_{\mathbb{R}} |f(x)|^2 d\nu_\alpha(x) = \int_{\mathbb{R}} |\mathcal{F}_\alpha(f)(\lambda)|^2 d\nu_\alpha(\lambda). \quad (2.9)$$

(ii) Plancherel theorem for \mathcal{F}_α : The Dunkl transform \mathcal{F}_α extends uniquely to an isometric isomorphism from $L^2_\alpha(\mathbb{R})$ onto itself.

Theorem 2.3 [11] Suppose $f \in L^1_\alpha((0, \infty))$ such that

- (i) f is of bounded variation in a neighborhood of $x > 0$.
- (ii) $\int_0^1 |f(x)| x^{\alpha+\frac{1}{2}} dx < \infty$.

Then

$$\lim_{A \rightarrow +\infty} \int_0^A \left(\int_0^{+\infty} f(t) j_\alpha(\lambda t) d\mu_\alpha(t) \right) j_\alpha(\lambda x) d\mu_\alpha(\lambda) = \frac{1}{2} [f(x+0) + f(x-0)]. \quad (2.10)$$

3 Inversion formula

In this section, we give an inversion formula for Dunkl transform associated with Dunkl operator A_α .

Theorem 3.1 Suppose $f \in L^1_\alpha(\mathbb{R})$ such that

- (i) f is of bounded variation in a neighborhood of $x \neq 0$;
- (ii) $\int_{-1}^1 |f(x)| |x|^{\alpha+\frac{1}{2}} dx < +\infty$.

Then

$$\lim_{A \rightarrow +\infty} \int_{-A}^A \mathcal{F}_\alpha(f)(\lambda) \psi_{-\lambda}^\alpha(x) d\nu_\alpha(\lambda) = \frac{1}{2} [f(x+0) + f(x-0)]. \quad (3.1)$$

Proof. Let $f = f_o + f_e$, where

$$f_e(x) = \frac{f(x) + f(-x)}{2} \quad (3.2)$$

and

$$f_o(x) = \frac{f(x) - f(-x)}{2}. \quad (3.3)$$

Thus,

$$\mathcal{F}_\alpha(f)(\lambda) = \mathcal{F}_\alpha(f_e)(\lambda) + \mathcal{F}_\alpha(f_o)(\lambda). \quad (3.4)$$

$$\begin{aligned} \mathcal{F}_\alpha(f_e)(\lambda) &= \int_{\mathbb{R}} f_e(t) \psi_\lambda^\alpha(t) d\nu_\alpha(t) \\ &= \int_{\mathbb{R}} f_e(t) \left(j_\alpha(\lambda t) + \frac{i\lambda t}{2(\alpha+1)} j_{\alpha+1}(\lambda t) \right) d\nu_\alpha(t) \\ &= \int_{\mathbb{R}} f_e(t) j_\alpha(\lambda t) d\nu_\alpha(t) + \frac{i\lambda}{2(\alpha+1)} \int_{\mathbb{R}} t f_e(t) j_{\alpha+1}(\lambda t) d\nu_\alpha(t) \\ &= h_\alpha(f_e)(\lambda). \end{aligned}$$

Moreover,

$$\begin{aligned} \mathcal{F}_\alpha(f_o)(\lambda) &= \int_{\mathbb{R}} f_o(t) \left(j_\alpha(\lambda t) + \frac{i\lambda}{2(\alpha+1)} j_{\alpha+1}(\lambda t) \right) d\nu_\alpha(t) \\ &= i\lambda h_{\alpha+1} \left(\frac{f_o(t)}{t} \right) (\lambda). \end{aligned}$$

Therefore

$$\mathcal{F}_\alpha(f)(\lambda) = h_\alpha(f_e)(\lambda) + i\lambda h_{\alpha+1} \left(\frac{f_o(t)}{t} \right) (\lambda) \quad (3.5)$$

Now, Let $A > 0$

$$\begin{aligned} &\int_{-A}^A \mathcal{F}_\alpha(f)(\lambda) \psi_{-\lambda}^\alpha(x) d\nu_\alpha(\lambda) \\ &= \int_{-A}^A \left(h_\alpha(f_e)(\lambda) + i\lambda h_{\alpha+1} \left(\frac{f_o(t)}{t} \right) (\lambda) \right) \left(j_\alpha(\lambda x) - \frac{i\lambda x}{2(\alpha+1)} j_{\alpha+1}(\lambda x) \right) d\nu_\alpha(\lambda) \\ &= \int_{-A}^A h_\alpha(f_e)(\lambda) j_\alpha(\lambda x) d\nu_\alpha(\lambda) + i \int_{-A}^A \lambda h_{\alpha+1} \left(\frac{f_o(t)}{t} \right) (\lambda) j_\alpha(\lambda x) d\nu_\alpha(\lambda) \\ &\quad + x \int_{-A}^A \frac{\lambda^2}{2(\alpha+1)} h_{\alpha+1} \left(\frac{f_o(t)}{t} \right) (\lambda) j_{\alpha+1}(\lambda x) d\nu_\alpha(\lambda) \\ &\quad - \frac{ix}{2(\alpha+1)} \int_{-A}^A \lambda h_\alpha(f_e)(\lambda) j_{\alpha+1}(\lambda x) d\nu_\alpha(\lambda). \end{aligned}$$

From the fact that the functions

$$\begin{aligned} \lambda &\longrightarrow \lambda h_\alpha(f_e)(\lambda), \\ \lambda &\longrightarrow \lambda h_{\alpha+1} \left(\frac{f_o(t)}{t} \right) (\lambda) \end{aligned}$$

are odd functions we get

$$\int_{-A}^A \lambda h_{\alpha+1}\left(\frac{f_o(t)}{t}\right)(\lambda) j_{\alpha}(\lambda x) d\nu_{\alpha}(\lambda) = 0 = \int_{-A}^A \lambda h_{\alpha}(f_e)(\lambda) j_{\alpha+1}(\lambda x) d\nu_{\alpha}(\lambda). \quad (3.6)$$

It follows, that

$$\begin{aligned} & \int_{-A}^A \mathcal{F}_{\alpha}(f)(\lambda) \psi_{-\lambda}^{\alpha}(x) d\nu_{\alpha}(\lambda) \\ &= \int_{-A}^A h_{\alpha}(f_e)(\lambda) j_{\alpha}(\lambda x) d\nu_{\alpha}(\lambda) \\ &+ \frac{x}{2(\alpha+1)} \int_{-A}^A \lambda^2 h_{\alpha+1}\left(\frac{f_o(t)}{t}\right)(\lambda) j_{\alpha+1}(\lambda x) d\nu_{\alpha}(\lambda). \end{aligned}$$

Hence, since

$$\begin{aligned} \int_0^1 |f_e(x)| x^{\alpha+\frac{1}{2}} dx &= \frac{1}{2} \int_0^1 |f(x) + f(-x)| x^{\alpha+\frac{1}{2}} dx \\ &\leq \frac{1}{2} \int_0^1 |f(x)| |x|^{\alpha+\frac{1}{2}} dx + \frac{1}{2} \int_0^1 |f(-x)| |x|^{\alpha+\frac{1}{2}} dx \\ &\leq \frac{1}{2} \int_0^1 |f(x)| |x|^{\alpha+\frac{1}{2}} dx + \frac{1}{2} \int_{-1}^0 |f(x)| |x|^{\alpha+\frac{1}{2}} dx \\ &\leq \frac{1}{2} \int_{-1}^1 |f(x)| |x|^{\alpha+\frac{1}{2}} dx < +\infty. \end{aligned}$$

Then by Theorem 2.3, we have

$$\begin{aligned} \lim_{A \rightarrow +\infty} \int_{-A}^A h_{\alpha}(f_e)(\lambda) j_{\alpha}(\lambda x) d\nu_{\alpha}(\lambda) &= 2 \lim_{A \rightarrow +\infty} \int_0^A h_{\alpha}(f_e)(\lambda) j_{\alpha}(\lambda x) \frac{|\lambda|^{2\alpha+1}}{2^{\alpha+1} \Gamma(\alpha+1)} d\lambda \\ &= \lim_{A \rightarrow +\infty} \int_0^A h_{\alpha}(f_e)(\lambda) j_{\alpha}(\lambda x) d\mu_{\alpha}(\lambda) \\ &= \frac{1}{2} [f_e(x+0) + f_e(x-0)]. \end{aligned} \quad (3.7)$$

On the other hand,

$$\begin{aligned} & \lim_{A \rightarrow +\infty} \frac{x}{2(\alpha+1)} \int_{-A}^A \lambda^2 h_{\alpha+1}\left(\frac{f_o(t)}{t}\right)(\lambda) j_{\alpha+1}(\lambda x) d\nu_{\alpha}(\lambda) \\ &= \lim_{A \rightarrow +\infty} \frac{x}{2^{\alpha+2}(\alpha+1)\Gamma(\alpha+1)} \int_{-A}^A h_{\alpha+1}\left(\frac{f_o(t)}{t}\right)(\lambda) j_{\alpha+1}(\lambda x) |\lambda|^{2(\alpha+1)+1} d\lambda \\ &= \lim_{A \rightarrow +\infty} \frac{x}{2^{\alpha+2}\Gamma(\alpha+2)} \int_{-A}^A h_{\alpha+1}(g)(\lambda) j_{\alpha+1}(\lambda x) |\lambda|^{2(\alpha+1)+1} d\lambda \\ &= x \lim_{A \rightarrow +\infty} \int_0^A h_{\alpha+1}(g)(\lambda) j_{\alpha+1}(\lambda x) d\mu_{\alpha+1}(\lambda), \end{aligned}$$

where $g(t) = \frac{f_o(t)}{t}$.
From the fact that

$$\int_0^1 |g(t)|^{\alpha+\frac{3}{2}} dt = \int_0^1 |f_o(t)| t^{\alpha+\frac{1}{2}} dt \leq \frac{1}{2} \int_{-1}^1 |f(t)| t^{\alpha+\frac{1}{2}} dt < \infty,$$

we get

$$\begin{aligned} x \lim_{A \rightarrow +\infty} \int_0^A h_{\alpha+1}(g)(\lambda) j_{\alpha+1}(\lambda x) d\mu_{\alpha+1}(\lambda) \\ = \frac{1}{2} x [g(x+0) + g(x-0)] = \frac{1}{2} [f_o(x+0) + f_o(x-0)]. \end{aligned} \quad (3.8)$$

Therefore relations (3.7) and (3.8) allow us to get

$$\lim_{A \rightarrow +\infty} \int_{-A}^A \mathcal{F}_\alpha(f)(\lambda) \psi_{-\lambda}^\alpha(x) d\nu_\alpha(\lambda) = \frac{1}{2} [f(x+0) + f(x-0)]. \quad (3.9)$$

In the following we will prove that the exponent $\alpha + \frac{1}{2}$ cannot be increased. Indeed suppose that the result in Theorem 3.1 holds when we have

$$\int_{-1}^1 |f(t)| |t|^{\alpha+\epsilon+\frac{1}{2}} dt < \infty, \quad \epsilon > 0.$$

Let

$$f(t) = \begin{cases} |t|^{-(\alpha+\frac{3}{2})}, & |t| < 1, \quad t \neq 0 \\ 0, & |t| > 1. \end{cases} \quad (3.10)$$

Thus,

- (i) it is clear that f is of bounded variation.
- (ii) $\int_{-1}^1 |f(t)| |t|^{\alpha+\epsilon+\frac{1}{2}} dt = \int_{-1}^1 \frac{dt}{t^{1-\epsilon}} < \infty$, for $\epsilon > 0$.

Therefore, Theorem 3.1 implies that

$$\begin{aligned} \lim_{A \rightarrow +\infty} I_A(x) &= \lim_{A \rightarrow +\infty} \int_{-A}^A \mathcal{F}_\alpha(f)(\lambda) \psi_{-\lambda}^\alpha(x) d\nu_\alpha(\lambda) \\ &= \frac{1}{2} [f(x+0) + f(x-0)] = 0, \quad x > 1. \end{aligned} \quad (3.11)$$

On the other hand, let z_1, z_2, \dots be the positive real zero of $J_\alpha(x)$ in ascending order and $a_n = \frac{z_n}{x}$, $x > 1$, such that $\lim_{n \rightarrow +\infty} a_n = +\infty$. In addition,

$$\begin{aligned}
\lim_{n \rightarrow +\infty} I_{a_n}(x) &= \lim_{n \rightarrow +\infty} \int_{-a_n}^{a_n} \mathcal{F}_\alpha(f)(\lambda) \psi_{-\lambda}^\alpha(x) d\nu_\alpha(\lambda) \\
&= \lim_{n \rightarrow +\infty} \int_{-a_n}^{a_n} h_\alpha(f)(\lambda) \psi_{-\lambda}^\alpha(x) d\nu_\alpha(\lambda) \\
&= \lim_{n \rightarrow +\infty} \int_{-a_n}^{a_n} h_\alpha(f)(\lambda) \left(j_\alpha(\lambda x) - \frac{i\lambda x}{2(\alpha+1)} j_{\alpha+1}(\lambda x) \right) d\nu_\alpha(\lambda) \\
&= \lim_{n \rightarrow +\infty} \int_{-a_n}^{a_n} h_\alpha(f)(\lambda) j_\alpha(\lambda x) d\nu_\alpha(\lambda) \\
&= \lim_{n \rightarrow +\infty} \int_0^{a_n} h_\alpha(f)(\lambda) j_\alpha(\lambda x) d\mu_\alpha(\lambda) \\
&= \lim_{n \rightarrow +\infty} \int_0^{a_n} \left(\int_0^1 f(t) j_\alpha(\lambda t) d\mu_\alpha(t) \right) j_\alpha(\lambda x) d\mu_\alpha(\lambda) \\
&= \lim_{n \rightarrow +\infty} \int_0^{a_n} \left(\int_0^1 \frac{1}{t^{\alpha+\frac{3}{2}}} j_\alpha(\lambda t) \frac{t^{2\alpha+1} dt}{2^\alpha \Gamma(\alpha+1)} \right) j_\alpha(\lambda x) \frac{\lambda^{2\alpha+1} d\lambda}{2^\alpha \Gamma(\alpha+1)}.
\end{aligned}$$

By Fubini theorem, we get

$$\lim_{n \rightarrow +\infty} I_{a_n}(x) = x^{-\alpha} \lim_{n \rightarrow +\infty} \int_0^1 \left(\int_0^{a_n} J_\alpha(\lambda t) J_\alpha(\lambda x) \lambda d\lambda \right) \frac{dt}{\sqrt{t}}. \quad (3.12)$$

But,

$$\begin{aligned}
\int_0^{a_n} J_\alpha(\lambda t) J_\alpha(\lambda x) \lambda d\lambda &= a_n (x^2 - t^2)^{-1} (x J_{\alpha+1}(a_n x) J_\alpha(a_n t) - t J_{\alpha+1}(a_n t) J_\alpha(a_n x)) \\
&= a_n (x^2 - t^2)^{-1} (x J_{\alpha+1}(a_n x) J_\alpha(a_n t)) \\
&= z_n (x^2 - t^2)^{-1} J_{\alpha+1}(z_n) J_\alpha(a_n t).
\end{aligned}$$

Therefore

$$\lim_{n \rightarrow +\infty} \int_{-a_n}^{a_n} h_\alpha(f)(\lambda) \psi_{-\lambda}^\alpha(x) d\nu_\alpha(\lambda) = \lim_{n \rightarrow +\infty} a_n x^{1-\alpha} J_{\alpha+1}(z_n) \int_0^1 \frac{J_\alpha(a_n t)}{(x^2 - t^2) \sqrt{t}} dt.$$

By change of variable $u = a_n t$, we get

$$\begin{aligned}
\int_0^1 \frac{J_\alpha(a_n t)}{(x^2 - t^2) \sqrt{t}} a_n dt &= \int_0^{a_n} \frac{J_\alpha(u)}{\left(x^2 - \left(\frac{u}{a_n} \right)^2 \right) \left(\frac{u}{a_n} \right)^{\frac{1}{2}}} du \\
&= a_n^{\frac{1}{2}} \int_0^{a_n} \frac{J_\alpha(u)}{\left(x^2 - \left(\frac{u}{a_n} \right)^2 \right) u^{\frac{1}{2}}} du \\
&= a_n^{\frac{1}{2}} x^{-2} \int_0^{a_n} \frac{J_\alpha(u)}{\left(1 - \left(\frac{u}{z_n} \right)^2 \right) u^{\frac{1}{2}}} du.
\end{aligned}$$

It can be easily shown that

$$\lim_{n \rightarrow +\infty} x^{-2} \int_0^{a_n} \frac{J_\alpha(u)}{\left(1 - \left(\frac{u}{z_n} \right)^2 \right) u^{\frac{1}{2}}} du = x^{-2} \int_0^{+\infty} J_\alpha(u) u^{-\frac{1}{2}} du. \quad (3.13)$$

Therefore

$$\begin{aligned} & \lim_{n \rightarrow +\infty} \int_{-a_n}^{a_n} h_\alpha(f)(\lambda) \psi_{-\lambda}^\alpha(x) d\nu_\alpha(\lambda) \\ &= \lim_{n \rightarrow +\infty} a_n^{\frac{1}{2}} x^{1-\alpha} J_{\alpha+1}(z_n) x^{-2} \int_0^{+\infty} J_\alpha(u) u^{\frac{-1}{2}} du. \end{aligned}$$

This last expression (3.13) has the value

$$\Gamma((2\alpha + 1)/4) / (2^{\frac{1}{2}} \Gamma((2\alpha + 3)/4)).$$

For more details of the previous result see [6].

From [12], it follows that

$$\begin{aligned} J_{\alpha+1}(x) &= (2/\pi x)^{\frac{1}{2}} \cos(x - \beta - (\pi/2)) + O(x^{\frac{-3}{2}}) \\ &= (2/\pi x)^{\frac{1}{2}} \sin(x - \beta) + O(x^{\frac{-3}{2}}), \end{aligned}$$

where $\beta = (2\alpha + 1)\pi/4$ and

$$J_\alpha(x) = (2/\pi x)^{\frac{1}{2}} \cos(x - \beta) + O(x^{\frac{-3}{2}}).$$

Since $J_\alpha(z_n) = 0$, we see that

$$|J_{\alpha+1}(z_n)| \geq (\pi z_n)^{\frac{-1}{2}}$$

for n sufficiently large. Thus for some constant C we have

$$|I_{a_n}(\lambda)| \geq C x^{\frac{1}{2}-\alpha}, \text{ for all } n \in \mathbb{N}.$$

Then

$$\lim_{n \rightarrow +\infty} |I_{a_n}(\lambda)| = 0 \geq C x^{\frac{1}{2}-\alpha}.$$

Thus, it follows that the exponent $\alpha + \frac{1}{2}$ cannot be increased, for which the theorem holds.

References

1. Cherednik, L.: *A unification of the Knizhnik-Zamolodchikov equations and Dunkl operators via affine Hecke algebras*, Invent. Math. **106**, 411-432 (1991).
2. Dunkl, C.F.: *Integral kernel with reflection group invariance*. Can. J. Math. **43**, 1213-1227 (1991).
3. Dunkl, C.F.: *Hankel transform associated to finite reflection groups*. Contemp. Math. **138**, 123-138 (1992).
4. Dunkl, C.F.: *Differential-difference operators associated to reflection group*, Trans. Amer. Math. Soc. **311**, 167-183, (1989).
5. de Jeu, M.F.E.: *The Dunkl transform*, Invent. Math. **113**, 147-162 (1993).
6. Erdélyi et al, *Table of integral transforms*, **II**, McGraw-Hill, New York, (1953).
7. Lapointe, L., Vinet, L.: *Exact operator solution of the Calogero-Sutherland model*. Comm. Math. Phys. **178**, 75-121.
8. Opdam, E.M.: *Harmonic analysis for certain representation of graded Hecke algebras*. Acta Math. **175**, 75-121 (1995).
9. Rösler, M.: *Dunkl operators: theory and applications*, in: Orthogonal polynomials and special functions (Leuven, 2002), Lect. Notes Math. (1817), Springer-Verlag, 93-135 (2003).

-
10. Rösler, M.: *A positive radial product formula for the Dunkl kernel*, Trans. Amer. Math. Soc. **355** (6), 2413-2438 (2003)
 11. Schwartz, A.L.: *An inversion formula for Hankel transform*. Proceeding of the american mathematical society, **22** (3), 713-717 (1969).
 12. Titchmarsh, E.C.: *Introducion to the theory of Fourier integrals*, *Oxford Univ. Press, London*, (1959).
 13. Watson, G.N.: *A treatise on the theory of Bessel Functions*, *Cambridge Univ. Press, London*, (1966).